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(1) T yYREEa 150 sTar v RG. SHeaRHT e Sat fofevara geam sudrge! @ yegfasa a9

@) I TR sFHiw T H A ﬂaa;m
=1 farar |teR o Frrd] Sl

(B) T ITIOAN TR FHiE g ITulRaR faftre st seeufrdade yerwm 7 faawmr g wa.

@) (31 1 Tgfide YT TEIe 4 At IO qaiEaet oA Wi 1, 2, 3 ST 4 o A fERS s, ™

IFATARE IAGHAIF TG THWHT A1 Hell TEThRHISIEHR B ht e SYae] SIS aTd! Shicsil =ral.
TR TAT Thad HiedT Y Siea aua, Uf-ae ar vge O o A,

() A T faeararet waet aiat st vream fafia o st < famaman weles WA et s e
31 HRTIE et fmtor geareh et sTeaTw, e Wathm ves watdt WS weeei
AT T

(5) TE T G IO S, AT | WA Sat . e o SR e A qean S vied faaen
A T WIS, AN W it SEeh 38 707 TEner U9 Sholul diecard diat 4e o ureafaal i 1o
IO TS 3.

(6) IR TeheT TR Foxd S ESdl AR &Y. T ks IR @IgA T Ie fEeams § A9 S .

(7) WA Tt IATN T okl oh T Tl SHQaNTeAT STa iAo grd Jnvire 7quT faes srdten
TR SUTANT RIS SguaiH TawuTsar Uyt feoedn S Stiieh! watd G Seve SHiehd
HOE A .

r T N

T ARt T fafga ok A wiuda & uygiaeht AT areuwT 3TgA o

TR &Td IUTATA GHEHIS ATUATH SUaTd 39 3. & 90 Woudd el gkt

va/udl, fhar wet uvTqiaedie STd ATV ST WEUTd Uedsl a1 Ayeerqut

IV SHRITE qHoT, TS g 0T & T 3T AT Fiel o SHaaT Y

T Hoedr Cahaaed g Ry ufaey wmevararader sfufran-82' ardte

WALTEN q8E Jalod RIersl qiqer ] ®Rarg hivdd 956 9 SNl suddl TS UH

TN HETaTEn nftr/féar $uR U TR Tt JeTe e ur Age

TEE T Wyl aTEt fafed woxn 9@ Wauarse § wyTgfdet arfgraqur areTer W qar

T[T HGT qH FHIOM SR AT HHAHG ST, TOa THgear THaganiag gt aer
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1. WS dfreTs Ysam SEe Tl W 2.

(a) TNFF F= HS A,
(b) TN BT YSIH TLEATE.
(c) vRfE fama F g™ 13d FAw.

it o Fav/ R s SR TR ?
1) (2) T @) (a) 37 (b) T
(3)  (b) 3N () w 4) (), (b) 3R ()

Small-scale industries are significant due to the following features :
{a) Use local raw material.

(b) Engage local manpower.

(c) Helps in reducing regional disparities.

Which of the statement/s given above is/are correct ?

(1) (a)only () (a) and (b) only

(3) (b)and () only @) (a) (b) and (0)

2. e SR HeRAH YA 3t O Wieie et gartvg et it sseva &
FAIE ST R, '

(a) THEAENR (b) HaTE =AU
(c) dife® Huxt sF6 (d) SRS wiaar st wew
Fhoiet HIVE fFUH sEe oed ?

(1) (o) 37 (b) (2) (a) 3 (c) (3) (@), (b) () (@) (), () ()
WTO is set up and designed to play the role of watchdog in the spheres of the following

matters :
{a) Trade in goods ~ (b} Trade in services
(c) Intellectual property rights (d) International peace and co-operation

Which of the above statements are correct ?

(1)  (a) and (b) (2) (a)and (0) (3) (@ B)and () (4) (b) (c)and(d)

HoAl HHEIS WRT /SPACE FOR ROUGH WORK P.T.O
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3. et foaum foumme =

(a) WG SEd gfawn fadita see qafehd =t Tea1 2006 923 9.

(b) W rETd Glaw fadita syt g1 TRa giaui=n yEwearet Tewe faagae

&N I,
(c) fedaw 2007 7& wrdta wrnya giawn v fawm st geam .
Tios! wvR/d faum/3 aa SR/ ?

(1) (a) 3TfoT (b) (2)  (b) 30for (o) (3) (a) 3T (o) (4) T (b)
Consider the following statements :

(a) The India Infrastructure Finance Company Limited (IIFCL) was set up in 2006.
(b) IIFCL providing short term financing for infrastructure projects.

(c) The Indian Infrastructure Project Development fund was launched in December
2007.

Which of the statement/s given above is/are correct ?

(1) (2) and (b) (2) (b) and (q) (3) (@) and () (4) Only (b)

4. WRAMIS HERN ToaEan SN Gee faum faem =

(a) TRH IAHI SCIHIGH e A3 HUATH] ITRIHE YRATIS WehRI Aol Lear
A,

(b) 1905 & Wuwa: WEhR HE HES AT HO.

(c) HEPH Twde & KR ‘T 79 tF g’ ¥ A

T FoE /9 fqam/ A ST/ SRA ?

(1) (a) 3o (c) (2) (b) 3for (c) (3) (a) =0 (b) (4) TR TR

With reference to cooperative movement in India consider the following statements :

{a) The Co-operative Movement in India started with the objective of giving short term
loans to the small farmer’s.

(b) The Co-operative Society Act was passed for the first time in 1905.

(c) The concept of ‘one village one society’ is the main objective of the Co-operative
Movement.

Which of the statement/s given above is/are correct ?
(1) (a) and (c) (2) (b) and (c) (3) (a) and (b) (4) None of these

HoAT HAMEE FAN /SPACE FOR ROUGH WORK
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5. 1999 <A1 TH.GT. T dfider freReier s e devid weie faum faema =0
(a) THa=® fariie daFHrE AU |el 12% vigas! ITRM €. |
(b) TSN FUE G TR T 50 BRAT A ¥ 1 B ToAda Twefadt.
(c) He THSUN SIS JARARIS! 120 T Ffar Squqr 37,
T HIvR/d a3 T 3T/ 3T ?
(1) (a) 30 (b) (2) (b) 3 () (3) ™ (0) 4) (a) 3FT(q)

Consider the following statements regarding small scale industries, based on S.P. Gupta
Committee (1999) recommendations.

(@) A capital subsidy of 12% for investment in technology in selected sectors.
(b) The limit of excise duty exemption raised from ¥ 50 lakh to one core rupees.
(c) At present only 120 items have been reserved for production by small scale sector.

Which of the statement/s given above is/are correct ?

() (a) and (b) (2) (b) and (¢) (3)  Only (c) (4) (a) and ()

6. TTHT WEHM TRASTHIC SEFSA Fiae W™ HEW ORI Hehit @ HIoRd ?
(1) HEHRI FH IAHT (CAC's)
(2) e T & (DCC's)
(3) A "WeHH FH suftn A faw@ e (SCARDB's)
(4) TF HeHM &F (SCB's)

Which of the following co-operative bank function for long term credit in the rural
co-operative credit sector in the state ?

(1) Co-operative Agricultural Credit Society (CAC’s)

(2) District Co-operative Bank (DCC's)

(3) State Co-operative Agricultural and Rural Development Banks (SCARDB's)
(4) State Co-operative Bank (SCB's)

HeAT HES 9FT /SPACE FOR ROUGH WORK PT.O
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7. 1904 =1 WEHR FHEDUEST 1912 H FHM G6ER FHRT ] PR WOGIH S ae
FHROUTA Bt ? :
(a) I FHIEEIIRR e WY HERR] TEIT T 0T 41 Bl
(b) UAEEIAAIT T SR GEATH IO 1904 S FHIEI=E] hE=e? e,
it I

(1) (@ % (2) (b) ® (3) = (4) TOUH! UHEl TR
Which of the following reasons were responsible for replacement of Co-operative Act of
1904 by Act of 1912 ?

(a) It permitted the formation of primary credit societies only.

(b) Except-credit societies other societies were left out of purview of 1904 Act.
Answer options :

(1) (a) only (2) (b) only (3) Both (4) None of the above

8. WIFGUH! HIE THAINE Ao e fawmare TR SEwe SamyTer R e e ?
(1) iR deEnfden ds (2) 90 d=EEE qre
(3) AT FeEarfier el (4) WE g Qe
Which of the following five year plan gave emphasis on heavy industries for industrial
development ?
(1)  First Five Year Plan (2) Second Five Year Plan

(3) Eleventh Five Year Plan (4) Seventh Five Year Plan

9,  1960-61 9 1990-91 A FOEHT WAGUH! HIV T TSI WRATH Haid Hiadl YHd
SR died 8 ?

(1) 2 frata o e §u

(2) THe Fdg W

(3) ¥ wewE 1o fasmr d=n

(4) @ <

Which was one of the following is the largest trading partner of India during 1960-61 to
1990-91 ?

(1) Organisation of Petroleum Export Countries

(2) Eastern European Countries

(3) Organisation for economic co-operation and development

(4) Gulf-countries

el HIMTETES W /SPACE FOR ROUGH WORK
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10. GHSUH! HIUR U/ ST 3/ AR ?
(a) A A (IMF) sTiawrea faxda Teee sefarad wad S
(b) FaEE MAFTER (IMF) GHIEE eni=a1 foeiia 4Re TR 3090 Wad 4.
it 34y
1) (a) oK (2) (b) B (3 = (4) TR TR
Which of the following statement/s is/are correct ?
(a) IMF promotes international monetary co-operation.
(b) IMF helps in framing monetary policy of member nations.

Answer options :
(1) (a)only (2) (b)only (3) both (4) neither

11. TESUH HIURE YaqaEE g g me @ i et SRR down 20-wed
FAHATE TG B ?
(1) i (2) g
(3) A & (4) SlSUH! HIURE TR
Which of the following Prime Minister restructured 20-point programme announced by
late Smt. Indira Gandhi for poverty eradication ?
(1) Rajiv Gandhi (2) Narsimha Rao
(3) V.P. Singh (4) None of the above

12. mAwmwﬁaﬂhmﬁuﬁﬁamw.
(a) YA U Adl TR fagum O & a8 Tdiate et aeer 9w s, -
(b) TS & Vet SREATSN HiA-TeH M A IR Fiewme 3.
(©) 1974 0% UK TEFR TaaTa WEHEST TTI0T S,
FhSHT Hod /A faus/T aET HR/ Aed ?
1) @3aE @ O @) @A (@ )
Consider the following statements with reference to Agricultural Cooperative Marketing.

(a) The National Agricultural Co-operative Marketing Federation of India (NAFED} is
the apex co-operative organisation at the national level.

(b) NAFED promotes inter-state and export trade of farm produce.
{0 The National Co-operative Development Corporation was set up in 1974.
Which of the statement/s given above is/are correct ?

(1) (a) and (b} (2} (b) and (c) (3) (a)and () (4) only (b)

T AT AT /SPACE FOR ROUGH WORK PT.O
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13, I GEEH 9 YEOUs! RV AN Hisds SR FId 7 2
(1) |rEe 9 Tt Fe.
2) Tgd 9% 9 T TERFHGT F U
(3) oW UG fasht .
(4) WVES 9 faOR GRS 3o WiwE.
Which of the following is not a way to raise capital of state cooperative banks ?
(1) By selling shares to members of society.
(2) By owing debt from RBI and state Govt. of India.

(3) By open market operations.

(4) By accepting deposits from members and non-members.

14. TEBYH HVM Faur/faum sl a2
(a) UEHR T AT I WA FOIIST T FIOGM ATH TSR HHAl AL
(b) FEHR BV faae, IeeA Fiaed Wi v sty Hegwie s AwR,
(c) HEPR DA YT AT hLd.

it 6y ;
(1) (a) B (2) (b) &K
(3) ot wd (4) TR

Which one of the following statement/s is/are incorrect ?

(a) Co-operation is an involuntary association of people desiring to achieve common
goal.

(b) Co-operation means abandonment of competition in distribution and production
and elimination of middlemen.

{c) Co-operation broadens the base of democracy.

Answer options :

(1) () only (2) (b)only

(3) All the above (4) None of the above

AT IS ST /SPACE FOR ROUGH WORK
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15.

9 C10

qEA1 Uredtal® (20 Generation) e gurd Hevld wdte faum faemm =

(a) T iR TR FETRERgT gl qaum o@ we.

(b) TEIYA & Ay g [away WER 94 e

() YurE U wey1 Qfudt Frifaq FuaH TR T TR,

Fota PR /@ /A e SR/ SR ?

(1) (a) 5 ) (2)  (b) T ()

(3) (a) 37ftr () (4) Tw T T

Consider the following statements regarding Second Generation Economic reforms.
(a) The role of Government convert from the ‘controller to the facilitator’.

(b) The Government commit to suitable reforms in the infrastructure sector.

() The Government commit to the full functional Panchayati Raj Institution.
Which of the statement/s given above is/are incorrect ?

(1) (a)and (b) (2) (b)and ()
(3) (a)and (c) (4) None of the above

16.

WREATIS St 3T 1Y =T A WISOTeh! o SR Hefud e ?

(1) fraee g (2) <IN T

(3) AL AR (4) Sirehfies dror

With which of the following area the study of Dandekar and Rath in India is related ?
(1) Planning process (2) Study of poverty

(3) International trade (4) Industrial policy

17,

ST Healte Fe gare YRAr FasHEEd o faum faerme =i
(a) WA FraeE @ e o fraem o

(b) g fEeE § sifas freem o,

(c) WRdIE Fraee @ wmifsrs fae ot

TR M/ faum/3 T TR/ 3R ?
1) (a) 30 (D) (2) (b) sfr ()
(3) (a) 3f () (4) =iowd

Consider the following statements with respect to Indian Planning before 12 five year
plan :

(@) Indian planning is indicative economic planning.

(b) Indian planning is physical planning.

(c) Indian planning is social planning.

Which of the statement/s given above is/are correct ?

(1) () and (b) (2) (b)and (c)

(3) (a) and (c) (4) All of the above

ool HIHTHIS AT /SPACE FOR ROUGH WORK
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18.

10 A
weie faum faawd =0, |
(a) 2001-02 9&A SeEERIE a9l TUAT oA e

(b) A TOATER YA SYSAME! &A1 105.02 D@ ! 3T,

(c) 1 IUHAYR Figuiihd SYSUMH T&I TH T&I= 87% 3L,

FUBYH! HIE/ Faur/3 T 3T/ 31ea ?

(1) (a) 30 (b) (2) P (b) (3) () 3 () (4) ()
Consider the following statements :

(a) The Third Census of small scale industries done in 2001-02.

(b) According to this census there were 105.02 lakh SSI units in India.

{(c) According to this census the registered units were 87% of the total.

Which of the statement/s given above is/are incorrect ?

(1)  (a) and (b) (2) only (b) (3) () and () (4) orly (c)

19,

T FIR Fet ARSI TF a0 s det BT HdeEs I 2

1) 3§ (2) “HIoHE @) F=EE 4) iz
Which one of the following is the finest natural harbour in the east ?

(1) Mumbai (2) Kolkata (3) Cochin (4) Kandla

20.

Tere faum faemmd =,

(a) 1991 Wed TS TaETd AreTudi=al FEHR TG RAKITS Sfde GURUT=t e .
(b) @ W ey ¢ AmToRt SHaeTIuR HEfia IR,

(c) TERHS YURUN 47 [EST SHaCUTqunstt sy 3T,

Tt wivR/ fawq/3 G TR/ e ?

1) (a) 3 (b) (2) (b) 3T () (3) (a) (T (c) (4) T (a)
Consider the following statements :

(a) The Economic reforms was initiated in India by the Government of Atal Bihari
Vajpayee in 1991.

(b) Macro economic stabilisation deals with demand management.

(c)  Structural reforms deal with supply side management.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and (9) (3) (a) and () (4) only (@)

Hoedl HATERE AT /SPACE FOR ROUGH WORK
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21. Mfae SANR 9fe] (WTO) el ®mae giet ?

(1) 19FERt 1995 (2) 199art 1994 (3) 30 fedaw 1994 (4) 30 fedarw 1995
On which date World Trade Organisation (WTO) was established ?
(1) 1 Jan. 1995 (2) 1 Jan. 1994 (3) 30 Dec. 1994  (4) 30 Dec. 1995

22. TYSURTER SFAhIHLOT=AT BIUl YROMMERYA @ere faum fa=r =i
(a) SFATERN SEIEANAL 1991 TR TH= FW g FOIH LA Fol,
(b) TSN TEULE HITATERIR T8l FUITH TEH R,
(c) TSI PR T TRETT 1991 FR T T R

Fets IR faum slEw se ?

1) (a) B (2) (b) @) (v (4) TSt THE TR
With respect to the impact of globalization on small-scale industries, consider the following
statements.

(a) Many of the small-scale industries started closing their activities since 1991.

(b) Small-scale industries are strong enough to face competition with multi-national
corporation.

(c) Governments protection to small-scale industries continues even after 1991.
Which of the above statements is correct ?
(1) (a) only (2) (b)only (3) (c)only (4) None of the above

23, o Frafor &= elmeferi= sffenor Sain 7ew SErmE! Save 3l et 5 ¢
(1) IEgTeE YeheurEt AU 5 HEl daet Tq 10 FIAUE SR T/ 40,
(2) TAETTNEE TeheaTHl [aaueh T 10 HIET Sl STHURT SN,
(3) AR FHSU! [aav T 15 HI! 5! SJHURT IERL
(4) FAUTIHIEE WUt AU 5 HIST HAT HIF 2 FIEIIE TR ST 8.

Medium enterprises under manufacturing sector has defined as :

(1) The enterprise having investment in plant and machinery is more than five Cr. but
doesn’t exceed ten Cr. rupees.

(2) The enterprise having investment of ¥ 10 Cr, including plant and machinery.
(3) The enterprise having investment in plant and machinery of ¥ 15 Cr.

(4) The enterprise having investment in plant and machinery less than 5 Cr. but more
than 2 Cr. of rupees.

oAl HTHATATS AR /SPACE FOR ROUGH WORK PT.O
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24. e Geror=H IRum devia arete faum faama =

(@) 1992-93 a1 2000-01 e Il gig=n anffes Tt 2T 6.3% 2.

(b) FURUT FRIHAT ST FHT HOAW FHI TRRIHE IROMT FH,

() WIER T o e aeamuds YuRomies WH aau@E g AEfavard aeal,

FAUF! HIVR /T fau= /3 ST AR/ 210 ?
(1) (a) for (b) 2)  (b) T (c)
(3) (a) # () (4) =ioud

Consider the following statements regarding the impact of Economic reforms :
(a) Between 1992-93 and 2000-01 the economy grew at an annual average rate of 6.3%.
{(b) The reform programme on poverty reduction was less positive.

(c) India’s improved foreign exchange management restored the confidence of foreign
investors.

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2)  (b)and ()
(3) (a) and (c) (4) Al of the above

25. WIHGIH! FHIVH Heh TH AR TR Frasist T & ?

(1) wWefgs T & (2) 3TN (ASHA)

(3) IHfEF IR F7 (4) ITEHIF A T

Which of the following is not a part of Rural Health infrastructure ?

(1) Primary Health Centres (2) ASHA

(3) Community Health Centre (4) Government Civil Hospitals

FHoAT HIHHG AR /SPACE FOR ROUGH WORK



5052083

A 13 C10

26, SERIHTN= W@ Frewisrad Sretets Sivr faum,/ faum adat smd ?
(a) TS TSUD T I
(b) ST HF YaR {0 Bge S8 smaEwe frafoy #ol.
(c) TR o wearg Fiv 28 o1 Saraer frfor sho.
(d) emieia @rerft S aEe.

rq o e

1) (@) (b) 3 () @ (b), (0 AT (d)

(3) (@) (©) 31 (d) @ (b), (d) 3 (a)

Which of the statement/statements are correct regarding main parameters of
Globalisation ?

(a) Removing trade barriers.

(b) Creation of environment in which free flow of capital can take place.
{c) Creation of environment permitting free flow of technology.

(d) To increase domestic private industry.

Choose correct options : :

(1) (a), (b) and () 2 (), (c) and (d)

(3) (a) (¢) and (d) (4) (b), (d) and (a)

27.  YRAHIS SEUST HeHSead SUhH FRIAv HIuT GE] WSioyH .
(a) HT AR HAA.
®) et d% sifte i,
(c) SirEirie famrra HaTe.

(d) fa< Hm0m.

Fhet! FIvE)/Y Tag 'HET AR/ 3G ?

1) (a) 37 (b) (2) (o) emfor (d)
) (a) 30 (d) 4 Howd

The following agencies are controlling the activities of Multinational Corporation in IndJa.
(a) The Ministry of Company Affairs.

(b) The Reserve Bank of India.

(c) The Ministry of Industrial Development.

(d) The Ministry of Finance.

Which of the option/s given above is/are correct ?

(1) (2) and (b) | (2) {c) and (d)

(3) (a)and (d) (4) All of the above

wHoAT HIWATS T /SPACE FOR ROUGH WORK PT.O
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28. WU HN faum/faum atET e/ mRa ?
(a) SfdapiFT WIS, SREe &S S99 i sTameaie Saa quidd Higa

T T R,
(b) TR TR e T T R e S

watet e

1) () T @) () @) (4) T

Which of the following statement/s is/are correct ?

(a) Globalisation presupposes complete removal of licences, quotas and tariffs.
(b) Globalisation means political integration of the world.

Answer options :

(1) (a) only (2) (b)only (3) Both (4) Neither

29, ' WSTIERTO’ A7 Yhedd Toieaeh] ST diF STEESHE fa=R iy o s 2
(a) TIoH &R fauss SRR (b) HHSAIHE IIHASHT

(c) FHEiHS STEH (d) TRIFTHS ITEHEA

Tt g Taig fae

(1) (a), (b) ¥fT (d) (2 (a). () 3nfw (d)

3) (), ) 3 () @) (), (o) 3 (d)

Which three measures are considered on priority basis in the concept ‘privatisation’ ?
(a) Ownership measures (b) Organizational measures

(c) Operational measures (d) Liberalisational measures

Select correct options :
(1) (a), (b) and (d) (2)  (a) (c) and (d)
(3) (@), (b) and (c) (4)  (b), (c) and (d)

FroelT SIATETS WA /SPACE FOR ROUGH WORK
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30. GIOBUH! HIE/A HIFH A RIS IT9aw Teifadl/ geifaan ?
(1) W& T FHIoarq qam B ISR Giavam A9Ew
(2) T QUROIE FEFRE] B0 G
(3) e st AR JEuam A9
(4) IO wd
Which of the following indicate/s failure of planning in India ?
(1) Failure to provide employment to all able bodied people
(2) Failure to implement land reforms

(3) Failure to check the growth of black money
(4) All the above

31.  HAUTRAT S WIOGuH! S 99 S A ?
(1) =0 A anneiiet S S 33% ot Hfeer ST Sava® TR
(2) ITET 9EY € A s M Uk AR GRaREd <@al &
(3) & dre A Eane UE SreiT wHia HH 100 fEeiEn 39T IR gEa
(4) & 9 99 99H (labour intensive) FH EW.
Which of the following statements is not true in case of MGNREGS ?
(1) At least 33% beneficiaries of the scheme have to be women.

(2) Wage disbursement to happen through bank and post office accounts.

(3) It seeks to provide at least 100 days of wage employment to all adult members 6f_
rural households

(4) It emphasis on labour intensive works.

32, WO fguR faarm =
(a) i N gfawn e suftn faaro vgde e s
(b) SR ARG YA SrET AhEa SR DIEH A,
(c) Fudk ygdt & enftis sufor wrmfes @ gfew @ A= wefiw TS sm.
FGHH FIoR/ faur/ aER TR,/ e ?
1) G @ @FAE) P FEEQ (@) e
Consider the following statements :
(a) Economic infrastructure is located within system of production and distribution.
(b) Social infrastructure contributes to the production process from outside the system.
(¢) Communication system is treated as both social and economic infrastructure.

Which of the statement/s given above is/are correct ?
(1) (b) and {c) (2) {(a)and (b) (3) only(c) (4) Al of the above

FHoAT HIATAS! F0T /SPACE FOR ROUGH WORK PT.O
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33. W fayr faurm =
(a) TR RE 1991 HEd =ehad! A= Feaemare! fada sraeen afgd T Hdl,
(b) HSIIE! SMHR T 9gat 1 3, 2010 Ted TR HeA.
() SR T TG & A1 FHeAd AL ST T 79 HAGE o .
TSR FIw/ <t faum/3 e R/ 3 ?
(1) W (b) (2) T (a) (3)  (a) 3 (c) (4)  (b) W (c)

Consider the following statements.

(a) The Government appointed a committee on the financial system under the
Chairmanship of Chakravarty in August 1991.

(b) The base rate system of interest rate has been introduced with effect from
July 1, 2010.

(c) The base rate system is applicable to all new loans and to the old loans that come up
for renewal.

Which of the statement/s given above is/are incorrect ?
(1) only (b) (2) only (a) (3) (a) and (c) (4) (b)and (c)

34, GWEwe faur faemm @i
(a) TeAAdd T & oM W X e FR TGl .
(b) 3eF UG F & e fag T M ol dgdl IR,
() Woa afta U= STHTaSTIvges T Bk TEUTHT 07 WYE! W Ta FHRoT (318)

FAFE
Felat SV @ faur/S ae ane/ omea ?
(1) (a) 30 (b) (2)  (b) 3T ()
(3) (a) 3nf () (4) =o wd

Consider the following statements :

(a) The Value Added Tax (VAT) is multi-point tax collection method.

(b) Non VAT is single point tax collection method. '

(c) Implementation of VAT will improve the purchasing capacity and living standard

of the poor people.
Which of the statement/s given above is/are correct ?
(1) (@) and (5) ‘ (2) (b)and ()
(3) (a)and (c) (4) All of the above

HoAl HWEE AT /SPACE FOR ROUGH WORK
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35. TR = i B GOl FIven AT T 79T FTE 2
(1) SRS STHA (2) < e AW
(3) <RI SRS (4) o YR
Gini’s co-efficient is a measure of which of the following social evils ?
(1) Inequalities in income (2) Poverty gap in a country
(3) Unemployment in a country (4) Infant mortality
36. 2016 WY A figd dohon T TR TR W WAl SHAEeEe SIoe S W
%1 € ?
(1) WETE ST AVTAEE! 39 a0
(2) N Ty FER fawfad Ho
(3) UEHSI-URd HGH-YEH FHS HO
(4) @IS HAE A <0 |
What was the mandate of the committee established under H.R. Khan - the deputy
governor of RBI - in 2016 ?
(1) To suggest measures to control inflation
(2) Development of corporate bond market
(3) To introduce cashless methods of payment
(4) To boost private borrowings
37. WAHTYH! HIVE A HERIEE, IEEE 9O YigA ven Setded 9ga i gt

rES T R ?

(1) TS e 9 a8 A

(2) g feram A

(3) d&A =R fawm A

(4) =t T4

Which of the following schemes aims at creation of sustainable irrigation facilities in
Maharashtra by way of absorption of rain water ?
(1) Magel tyala ‘shet tale’ yojana

(2) Jalayukta Shivar Yojana

(3) Western Ghat Development Programme

(4) All of the above

AT HIWEE AT /SPACE FOR ROUGH WORK

P.T.O.



C10 18 A

38. @S faym fasmm =0
(a) 2009-10 WA TERTCTN Ha1 SAKdS faeh T 9.6% &l
(b)  2010-11 HEA WERTS (AT TS SIS aT &= AT 61% 2.
(0)  2012-13 Wed TR WS T IATGAIT SYahM &=l ael 22% Bl
TSR] FO /A faumE/A TUE SR/ AR ?
1) (a) s (c) (2) (a) 30f0 (b) (3)  (b) 3 (c) (4) WK (0
Consider the following statements :

(a) In 2009-10, the growth rate of Service Sector in Maharashtra was 9.6%.

(b) In 2010-11 the share of Service Sector was 61% in Maharashtra State Gross Domestic
Product.

() In2012-13 the share of Construction Sector was 22% in the Maharashtra State Gross
Domestic Product.

Which of the statement/s given above is /are correct ?

(1) (@) and (o) (2) (a) and (b) (3) (b) and () (4) only (c)

39. U faa wemEss (IFC) HI &1 H1H Hld 2
(1) S &erean famrret e, Arfest anfor Jesw s
(2) TS ST FORASL
(@) Ha1 gErE foe 9 SEET.
(4) T FEgiayTEn foem 9 e
International Finance Corporation (IFC) works in which of the following area ?
(1) Investment, guidance and asset management for the development of private sector.
(2) Credit supply to central banks.

(3) Development and management of services sector.
(4) Development and management of infrastructural facilities,

40. =1 Heiftd 9y faumrst e w3
(1) 39 T B FAH F AR
(2) o T A1 F T WY F I
(3) HUT T GH ATAY FL e
(4) IAEA I T WAH FI AL
Select the right statement regarding taxes :
(1) Income tax is not direct tax
2) Goods and service taxes are indirect taxes

(
(3) Property taxes are also indirect taxes
(4) Product taxes are direct taxes

TS HUTEES AR /SPACE FOR ROUGH WORK
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41. TEASUH A EE g ATFEEF GhR GIE 9T AT ?
(1) = TGS IAH
) TR IRNEIE T
3) Seforn ailes @<
(4) A FEEEdS T
Which of the following is not a part of non-development public expenditure ?
{1) Tax collection charges
(2) Expenditure on military equipments
(3) Expenditure on educational services
(4) Expenditure on interest payment
42, WA ToIEEA=A hod 280 TR T0H Shocdl MRAa foad STarmer Gioieds! S Afsi
T ?
(1) o IS hg SO [T TEHIHY qed H
(2) T WEH IIEH SvFEESAl go1 w0l
(3) HIeT NTER TER F
(4) fren faameh Hed ga s
Which of the following duties is not entrusted to Finance Commission of India under
article 280 of Indian Constitution ?
(1)  Distribution of tax proceeds between Centre and States
(2) Recommendations on governing of grants in aid to state governments
(3) Preparation of Union Budget
(4) Recommendations on any matter related of sound finance
43. TSR RUR FE R SAHTEE FT 2

(1) U A foaRomren SR

(2) At s

(3) HeTHIE

(4) I T

Which of the following is not a contingent function of money ?
(1) Basis of distribution of National Income

(2) Basis of Credit Creation

(3) Store of Value
{4) Transfer of Value

Foedl HIWEIS AT /SPACE FOR ROUGH WORK

P.TDO.
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44. ryren A fagiaret ST e wotetwT e sddewr 99 fawfag we
(1) aTEkE Tve 2) . fe
(3) sfxs femE @) SH €A

Cambridge version of quantity theory of money was first developed by which of the
following economists ?

{1) Alfred Marshall {2) L Fischer
(3) David Ricardo (4) Jean Bodin

45, mﬁﬁmwawmm T ST 2

(1) wfasy frafe fef (2) o
(3) sTRfa (@) T fae
Which of the following is not a part of debt obligations of the state government ?
(1) Provident Fund (2) External Debt
' (3) Contingency Fund (4) Reserve Fund

46. THT fEYFTE e Aq STHGTN SUSTII T&7 WhR HITET ?
(1) EI=esh SsrT
(2) I W SSR
(3) =BHA  HEH SSMa
(4) R T G SSTR
Which types of unemployment are/is mainly found in rural areas ?
(1)
(2) Low quality unemployment
)
)

Structural unemployment

3

_—

Disguised and seasonal unemployment

(4) Cyclical and educated unemployment

FHoed] TIHES AT /SPACE FOR ROUGH WORK
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47. G faur faerm =
(a) HERIS TeaToN TS SARAHES 2009-10 AT 9T TeT &= AT 30.9% Bl
(b) HENE U9 TSN [ThH HeMSoaral ST 1962 HEd e,
(€) 2010 IEA TERTE ToAM B fawgs €0 Mgt Fl6e TR,
TSt HIE/@ faum/T st e/ eTed ?
(1) @3&mr®) (2 (b)) (3) (2) () (4) ()
Consider the following statements :

(a) The share of Industry Sector in Maharashtra state gross domestic product was 30.9%
in 2009-10.

() Maharashtra small scale Industrial Development Corporation was established in
1962.

() In 2010, Government of Maharashtra scraped the SEZ policy.

Which of the statement/s given above is/are correct ?

(1) (a) and {(b) (2) (b)and (c) (3) (a) and () 4) only ()

48, 'S "Rhe AT S AN TOAE IETAEES R 96 Toieist $90 T 3900 2
1) kI fawn
(2) TR TE T w0
(3) SR S IR AN & qreaut
(4) S e SEETE T <X e

To control inflation, through open market operations, which of the following steps will be
taken by the central bank of a country ?

(1) Selling of government securities
(2) Buying of government securities
(3) Increase in interest rate of commercial bank borrowings

(4) Reduction in interest rate of commercial bank borrowings

el THIATEST W /SPACE FOR ROUGH WORK PT.O
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49, VRATAT YARATAT Tl WSS fGUHIdR! g fqum saw T ?
(1) erEiE o Sar samy wied i daa 49d wfaw R - % 9 el
GV & 3Te.
(2) YRET=A T IqoHe Ja1 Q1= Sl Higdl THUI A6 .
(3) HUYF WA AN THI A AEHY HIS ARH e 3.
(4) I G TR ISAS Fe GH AT 3.

Which of the following statements is not true as far as service sector of India is
concerned ?

(1) Business services including IT sector has been the fastest growing sector.
(2) Share of services in India’s GDP has substantially increased.

(3) Communication services have made a significant contribution to service sector
growth.

(4) Share of service sector in total employment is very high.

50. G Gy fa=urE =
(@) WA f= 9% 1% $an anfon SR 5= vl S fafor .
(b) NN SHEEhgT I= W Y e Fafvsa et oI,
() =3 v SR HETOR SAfr qeaen ° e qeaet fagidrar uen o
F{PUH! RO/ fqum/ T AR/ AR ?
(1) (b 3 () (2) WX (b) (3) () T (b) (4) ()
Consider the following statements :
(a) Reserve Bank of India and Government are producers of the high-powered money.

(b) The amount of high-powered money is fixed by commercial banks

(¢) Theory of determination of money supply is based on the supply and demand for
high-powered money.

Which of the statement/s given above is/are incorrect ?

(1) (b} and (c) (2) only (b) (3) (a) and (b) (4) only (c)

HoAT HHES I /SPACE FOR ROUGH WORK
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51. SR, WIS it SAPTiasise fauas guromHa fmin goen Stsrmi=an a6
Fel YUrAEt 1991 AR WOwtE! e i w2
(1) e e & (2) U ditedt St
() THREH UkeE hs (4) Uvre faagReEt SidRer
Which of the following was established to take care of unemployment arising out of
liberalisation, Privatisation and Globalisation reforms after 1991 ?

(1) National Renewal Fund (2) Exit Policy Commission
(3) Employer’s Provident Fund (4) Social Security Corporation

52, THGl fasg RAIS - 1995 BY &0 wepdisww qfamr & g fafaa awvam sk, & 9
WO g giad ?
(1) TomE sngam fus o F1 2
2) Torai=n mera= st ISP <X aifree TR %1 ?
(3) T & feaien g sme FE ?
(4) o anfds oniftr ToTepla A TR WU B MHd R4 &4 ?

Human Development Report - 1995 launched the concept of Gender Empowerment
Measure (GEM). It indicates :

(1) Whether life expectancy is high among women.

(2) Whether literacy and employment rate is high among women.

(3) Whether sex ratio is in favour of women.

(4) Whether women are able to actively participate in economic and political life.

53. @O faun f99rE =

(a) T UG R A 2009-10 TSt ATHT IS T 28 .60 TSNS S feaamnst anfn wedt
AT T 22.40 TR < fEaammEt 2fes T e FHoAr .

(b)  2009-10 W& 29.8% Bh HE&A TNET W@ Bt

(c)  2009-10 7e& 33.8% TTHITT IS 37U 20.9% Wl M DG el TRET W@l rell,

T FUR/S AU/ I IR/ IR ?

(1) (a) 3 (b) (2) wH (a) (3)  (b) S (o) (4) wH(b)

Consider the following statements :

(a) According to NSS data for 2009-10 the poverty line was defined as T 28.60 per
capita per day in rural areas and ¥ 22.40 per capita per day in urban areas.

(b) 29.8% of the population was below the poverty line in 2009-10.

(c) 33.8% of the population in rural areas and 20.9 percent in urban areas was below
the poverty line in 2009-10.

Which of the statement/s given above is/are incorrect ?

(1) (a) and (b) (2) only (a) (3) (b) and (c) (4) only (b)

AT HIHFATS I /SPACE FOR ROUGH WORK PTO
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54. 3w sifw T st daie X 3 i T i 5 R
S AT FHHAGS Il TS WA Ieht HI0! HT € 2
(1) TEHO I A (2) TEO UL I
3) Treme wiwia SerRA (4) oI udie oA
Market value of final goods and services, in the country plus income earned by the Indians
from foreign countries, minus income earned by the foreigners in India is called as which
of the following concepts ?
(1) Gross Domestic Product (2) Gross National Product
(3) Net Domestic Product (4) Net National Product

55. o faum faarma =
(a) IS U o o Faia Treae Yo g <vifam.
(b) I IEel T HA WS WA IR SR,
(c) i wifement i ah TEa oo HISTHIGT A1dt e gt N Seoe g

UHfAd AR FS FEL.
T Foa/d o THET 3 ?
(1) (a) 3fur () (2) (b) 3nfur (o)
3) (a) *fW (b) (4) oo

Consider the following statements :

(a) Product method estimates the net value added of goods and services.

(b) The Income Method is employed in estimating the GDP of service sector.

(c) A combination of product method and income method is used for national income
calculation by CSO.

Which of the statements given above are correct ?

(1) (a) and (c) (2)  (b) and (q)

(3) (a)and (b) (4) All of the above

56. TEIHINIY Sfereieral 3nfUl AR ATET Hevia ere fau faarm .
(a) T TERA TTRINE FTAEGH A HAISIH T FHES 2004 T2 HR Fe.

(b) TN FEEFER A 2009 THd Heg g ¥ HE YHE S0 A7

(c) 7= 2009 Tiq TE il I 3% Wi TR g2 w5 F=0 T 'Y 9.

o HIvH/ @ fau/4 I IR/ 3R ?

(1) (@) AT (b) (2) (a) ¥ () (3)  (b) A (c) @ 7w

Consider the following statements regarding with FRBM Act.

(a) The Central government passed fiscial Responsibility and Budget Management Act
in 2004.

(b) According to this Act revenue deficit was to fall to zero by 2009 and

() Fiscial deficit to be reduced to 3% of GDP by March 2009

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2) (a) and (c) (3) (b)and (c) (4) allof the above

THeeHT IS I /SPACE FOR ROUGH WORK
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57. Wore faum fa=rm =

(a) SATFRTG Ieao T & FafHTeh ITA HAHRS .

(b) SIS [AATH FHRITH YfHeH S 3¢9 X ST9a9 3@ 3.

(c) TENES HX T ASUIhd HUAT I HEHSS Fiedl AT SHAA !,

T FIOR/dF FauE/S T IR/ SR ?
(1)  (a), (b) MM (c) (2) (a) 3T (b)
(3) (a) 3O (c) (4) A (c)

Consider the following statements :

{a) Personal income tax is levied on the income of individuals.

(b) Income tax has failed to play positive role in redistributing income.

{c¢) Corporation tax is levied on the income of registered companies and corporations.
Which of the statement/s given above is/are correct ?

(1) (@), () and (0 (2) (@) and (b)

(3) () and (0) (4) only (0

58. Weletsl o g i 1987 wd oot SEmYEi= TEAE I HIOIEE Fet
Bt 2
(1) =€ ®R $fgae aftn weAfie feear
(2) € wi fos feEiw Regsm
(3) Sehegae Fawde 4+ win sfE
(4) eigTs fEgwm s+ Afw sfen

Which of the following was established in 1987 to deal with the problems of sick
industries ?

(1) Board for Industrial and Financial Reconstruction
(2) Board for Sick Industries Reconstruction

(3) Industrial Investment Bank of India

(4) Industrial Reconstruction Bank of India

HoAT HEME A /SPACE FOR ROUGH WORK P.T.O
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59. Wore faum faamd =
(a) TE SR faer <@ SavarE) TeEer! H519 fag TaearEt R,
(b) THHEATER SR TATAT G e, TRRFST Hae H9 (e T80 T T TWHR $8
TR T A SR 9 59 I T
(c) TRIIATUR T THIHA RHg Fel Juaret Warm oIk,
FISIT! I/ d faUE/A He R/ 3Ted ?
(1) (a) fw (b) (2) (b) 30f () (3) () () 4) ®H (g
Consider the following statements :

(@) The Ministry of Finance at the centre has the responsibility to oversee the finance of
the State Governments.

(b) According to the Constitution the state governments cannot borrow from market
without the permission of the central government if the states have outstanding
debt with the centre.

(c) According to the constitution the states are permitted to borrow from abroad.
Which of the statement/s given above is/are incorrect ?

(1) (a) and (b) (2) (b) and (c) (3) (@) and (9 (4) only (q)

60. G faum fagarm =0 :
(a) TR WEAN USFIR T A 1972-73 T4 GE hol.
(b) &1 AT 1977-78 1 1987-88 A1 FrnaH T T 60.4% TET 36.7% T4 FHH HoAM

R 2.
(€) USFIR T A Faid S HraaT e TN S1e.
FlSUH! SR/ faur/ aaEg e/ e ?

1) (a) 30f (b) (2) (b) 3T () (3) (a) MW () (4) HH ()
Consider the following statements :

(a) Maharashtra Government introduced the employment guarantee scheme in
1972-73.

{(b) This scheme contributed to the decline of poverty from 60.4% in 1977-78 to 36.7% in
1987-88.

(c) EGS benefited a large number of males only.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and () (3) (a)and () (4) only (9

HoAT HIAEE ART /SPACE FOR ROUGH WORK
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61. @ faur faamm =
(a) Iheifrew TrEmE giaw FAdH G 2014 T GE SOl
(b) TSIl FE UTHIT Feim, for Felstehar et 2015 ALY GE Ho.
(c) FedsR 2012 AL WIHRA SAHFT YS! HEAHE TARES] SHE Hel,
TS HIA/@ faum/A e TR/ e ?
1) @G (2 W@ @) O)efrE (@ FHE
Consider the following statements :
(a) Industrial infrastructure upgradation scheme was launched in 2014.
(b) A scheme for promoting innovation, Rural industry and entrepreneurship was
launched in 2015.
(<) g’(l)l;:zgovermnent introduced Institutional Credit for Handloom Sector in December
Which of the statement/s given above is/are incorrect ?
(1) (a)and (b) (2) only (a) (3) (b) and (c) (4) only ()
62. TSRISHI® Wod TMMET TRATIT H0gal Y7 SIEvaEE], 2002 90 Goissh! SIvd Hael

I 1o ?
(1) wa (2) HITafeeH @
(3) ARG, FmEa (4) =SiH! FowaE! T

Which of the following was passed in 2002 to prohibit abuse of dominant position in the
market ?

(1) FERA (2) Competition Act

(3) MRTP Act (4) None of the above

ol MM ST /SPACE FOR ROUGH WORK
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63. 1T, 1999 st wWolsddt T E-ASFTR A1 SV A= THIAFIA TE A ?
(1) Ui T fawme FRiwH, TUFEEs THEed A, T Fea91 deI, Sfeu afge 9
(2) WemiAw O faeTe FREEE, UM s g9, gEam, faen (SITRA), Tvew fafsd
DI
(3) IS T fawm wEwE, gEaw, faa 9 wow faem wEwy, e afee 9em.

(4) weIfcHeR IO e srdsrd, SR TSR IS, STame I 99E] e, g, dquf
TSR FISFL

On the 15t April, 1999, Swarnjayanti Gram Swarozgar Yojana was stared with the
consolidation of which of the schemes ?

(1) Integrated Rural Development Program, Pradhan Mantri. Gramodaya Yojana Village
Welfare Scheme, Indira Mahila Yojana.

(2) Integrated Rural Development Program, Village Welfare Scheme, TRYSEM, SITRA,
(MWS) Million Wells Scheme.

(3) Integrated Rural Development Program, TRYSEM, Women and Child Development
Program, Indira Mahila Yojana.

(4) Integrated Rural Development Program, Jawahar Rozgar Yojana, Jawahar Gram
Samrudhi Yojana, TRYSEM, Full Employment Scheme.

64. WA QSN 1973 ST STEESIER THRA UsFIR QIS Qe ST 9l 48 He.

(a) U T FHA (b) FH-FA g

() &-fae wdwa @) = HEe wE g

stola! FIvE/Y Taia THREyRX /3R ?

(1) () 3nfor (b) (2) (b) sfT(d) (3) WK (o) 4) % (d)

According to Bhagwati Conmunittee Report 1973 the Government took the following
measures to provide employment.

(a) Rural Works Programume (b) Agro-Service Centers
(c) Area-Development Scheme (d) Kisan Credit Card Scheme

Which of the option/s given above is/are incorrect ?

(1) (a) and (b) (2) (b) and (d) (3) only (c) (4) only (d)

FHoAT FHIHTETS I /SPACE FOR ROUGH WORK
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65. TS {7 gag Wemed SUSAIE! Hahedal fashdia Fvdar et oM i Erels wHrul-
(a) ST g feerdt <=t
(b)  STSTRYET |1 TS S
(d) SR =g A g«

FiSUs! I/ T JREYS TR/ Hed ?

(1) A (2) ) (a) 3 () (3) R (d) (4)  (b) ST (d)
National Sampal Survey organisation developed the concept of unemployment as
follows :

(a) The usual status unemployment

(b) The current weekly status unemployment

(c) The current daily status unemployment

(d) The current yearly status unemployment

Which of the option/s given above is/are incorrect ?

(1) Only @) 2 @and(© (3 Only() (@) (b)and @)

66. Toe fauR faamm =
(a) ofeq fmy 3 ToTs @« fagid qica.
(b) 3= wrToit fagia SR =l ffved T .
) fm Tadan gt gfem 3™ "N siRUa =R o/ 9ol F& AR,
ot o faum ST a7ed ?
1) @0) 2 &I
B @3 (4) o T
Consider the following statements :
(a) The theory of comparative costs is propound by Adam Smith.
(b) Reciprocal Demand Theory which explains the determination of terms of trade.
(c) Dennis Robertson described foreign trade as “An Engine of growth”.
Which of the statements given above are correct ?

(1) (2) and (b) (2) (b)and (¢)
(3) (a) and (c) (4) Al of the above

HoAT HIUES AT /SPACE FOR ROUGH WORK PT.O



C10 30 A

67. WIHBUH DIV TS FHaH TRAHEY 2007-08 1 HRM AU Wl Hehl ?
(1) A A T
(2) fadit = gyt
(3) “ogw R T 39 7@
(4) TTIHE FURE

Which of the following sources of irrigation in India has made spectacular progress in

2007-08 ?
(1) Canals and ponds (Tanks)
(2) Wells and Tube well

)
(3) Jalyukta Shivar and Farm lakes (Shet tale)
(4) None of the above

68. WHSUH S TN TG FIA TG I e 7
(1) =, e, e, vl 7 fimgR
(2) R, SEAL, WU, $OE 9 STHUE
(3) WM, s, sifon, YfFss 7 gfemor i
4) =T FAE TR
Which of the following are major home countries of Multi National Corporations ?
(1) China, Russia, ltaly, Malaysia and Singapore
(2) France, Germany, Japan, UK. and USA

(3) Mauritious, Brazil, Australia, New Zealand and South Africa
(4) None of these

69. W faum fasmo =
(a) THE & e Fen fauee ware (Rrer) de ek
(b) ¥ oo SFETEl ®ITAT 1988 AL WO,
(c) AN TER HEHSEH! TITAT 1957 7L Fel.

Fitotat For faur T ama 2
1) @) @ ®aE
(3) T (a) (@) FAet

Consider the following statements :

(a) NAFED is the apex co-operative marketing organisation at the National level.
(b) Centre for Agriculture Marketing was established in 1988.

(c) Central warehousing corporation was setup in 1957.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) () and (o)

(3) only (a) (4) All of the above

Hoedl RIS AT /SPACE FOR ROUGH WORK
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70. M 9N IGHOHR GOGTE! RIE TS THE HEYS W0GTH! SaEeRt SHIA HEomrE]
By ?
(1) SRR ved (2) EIER I
(3) WREEAR TEd (4) S I T5d

Which of the following describes a system of land revenue in which the responsibility of
paying land revenue was laying with the cultivator ?

(1) Zamindari System {2) Ryotwari System
(3) Mahalwari System (4) Contract Farming System
71. TEIHIGA ESTH (G0 TGAHE TAF TS FZAEE! .1, smur 3=
srefqEtEm o gEe .
(1) 20 (2) 15 (3) 10 (4) b5

Under Targeted Public Distribution system, each poor family was entitied to
kg, of food grain at highly subsidised prices.

1) 20 @ 15 (3) 10 4) 5

72. W@ RO Hehed Higoeal &rHdan e et ot oal Hetd +id ?
1) we fowm fuis ) wra e s
@) o Fede 1 (4) =fe awEd &
Which of the following focuses on women's opportunities rather than capabilities ?

(1) Human Development Index (2) Human Poverty Index
(3) Gender Empowerment Measure (4) Poverty Gap Index

73. SNfae SR WEA= 3876 WY Sfe Foedr dfavas Huudl Geiaist HIor e
T ?
(1) 3t W STl SR yaR fied 3,
(2) ¥dr=T Swiiard Hew (3MuR) frafsa .
(3) Ve Efd sAeEEEE wH .
(4) o sfeh T HeETe 0,

Which of the following is not an objective of Agreement on Agriculture announced under
Uruguay Round of WTO ? :

(1) Providing access to global markets for agricultural products.

(2) Regulating domestic support to agriculture.

(3) Reducing export subsidies to agriculture.

(4) Encouraging modern methods of farming,.
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74, B WY@ I ST S wore faym foerme 0.
(a) 1990 7td i@ Y@ TWiETa I & Faheu fasfaa wwam oTe
(b) I HFEHT TG SHeAmomeR TR FIOR ggu9r i wH Fresen Yafis ave st

BTt Fobwre A ST e e S,
() |1 2000 TR =1 wed #Rd TS ST IRATS WHAHATT T hod.
Fh@H FIow forar,/ 3 sET oRa 2
1) @3@ 2 ®3IE 3) @3®) (4) At TR

Consider the following statements about Green GDP.
(a) The concept of Green GDP evolved in 1990.

(b) It attempts to factor in the cost of depleted natural resources and pollution which
ultimately affect human welfare.

(c) China had started calculating its Green GDP from 2000.
Which of the statement/s given above is/are correct ?

(1) (a) and (c) (2) (b)and (¢) (3) (a)and (b) (4) None of these

75. WSS faum faamm .
(a) 2005-06 A% YA UEHRA TG BT AEH Ye o,
(b) 2005 T4 WS Tl Hode M0 iyt Seqdt Heardl ST Ja.
(€) 2015-16 9T ThicHteh ToaE FHoraeEeN 3y 50 Seam tafae.
e Fon/ < faum/3 9% s/a?
(1) K (a) (2) = (b) (3) W (q) 4 @3
Consider the following statements :
(a) The National Horticulture mission has been launched by Govt. of India in 2005-06.

(b) Maharashtra State Horticulture and Medicinal Plant Board was established in 2005.

(c)  From 2015-16, the Mission for Integrated Development of Horticulture is implement
in 50 district.

Which of the statement/s given above is/are incorrect ?

(1) only (a) (2) only (b) (3) only () 4) (a) and (b)
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76. Goe faum faeEra =m0
(a) g fawm snfor gypeAT=R S oS S Usia FEEH 2014 T GE wO

(b) WHRAHAA N =0 simoaerEvidE! 12 = deHa 2000 FIE T SHEIARE WIS
Fo.

() T gy Ao | 2013 TE) T Hedl,

adoist SR/ faum/A g /a2

(1) (a) =0 (b) (2) K (b) (3) () ¥ () (4) H ()
Consider the following statements :

(a) National programme for Bovine Breeding and Dairy Development was launched in
2014.

(b) The budgetary provision of T 2000 crore has been provided for implementation of
NPBBDD during 12t plan.

(c) National Dairy plan was launched in March 2013.

Which of the statement/s given above is/are incorrect ?
(1) (a) and (b) (2) only (b) (3) (a) and () (4) only (c)

77. @oe faum faeme =,
(a) WRETHS YT § Higd WHIVIN g ScIeT FOR T 1R,
(b) YIRATHIS Tea RN & Hald S YHIUI ST Seaea FTR WY 3R,
() YIRAMI® TENIY ¥ FHIIER TE SR BN T L.
(d) vRarie 9YEs 9 ¥ 6 T8 SEeT FOIR I AR
qiRT IV faur/ g TR/T?
(1) (2)F(b) @ (©@F() (3) = (b) (4) HH(d)
Consider the following statements :
(a) Punjab is the major wheat producing state in India.
(by Madhya Pradesh is leading in production of pulses in India.
(c) Maharashtra is the principle producer state of cotton in India.
(d) West Bengal is the Major sugar-cane producing state in India.

Which of these statement/s is/are incorrect ?
(1) () and (b) (2} (c)and (d) (3) only (b) (4) only (d)

THoodl WH™TS AFT /SPACE FOR ROUGH WORK PT.O
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wee faur faamm =m0

(a) PrEREE FHAV FHEATER Ifecdn ey S7F 9 Jogat S ST,

(b) TEHEEEN GHFAY HGATIR THH T SHEESN derdl A T 2.0% fehar s
SR ST,

(c) orwgeEn dHau fagiagar foe=n sEeds S gaeEm S S ST See gat
el B

Flwd®! FIvE! faur swer oe/a?

(1) (a) 3T (b) (2) (b) & ()

(3) (a) M (c) (4) oot T

Consider the following statements.

(@)
(b)
(©)

According to the Theory of Demographic Transition in the First stage, birth and
death rates are high.

In the second stage of demographic transition population increases at an annual
rate of about 2.0 percent or more.

In the third stage of demographic transition the birth rate declines significantly and
thus the rate of population growth remains low. '

Which of the statements given above are correct ?

(1) (a) and (b) (2)  (b)and (c)

(3) (a)and (c) (4) All of the above
79. woe faum faara =

(a) SIS TRIHATSH OS] gEard 1919 1 SE9ET Fie.

(b) IS Y STAGE SIMALA HIAT GUR FHS AE.

(c) T JeT oM IIeHT L 2014 98 §% A,

TSt wow/dt faum/S g ene/a?

(1)

(@) ¥ (b) (2) ¥ (D) (3) () 4) (®)F ()

Consider the following statements :

(a)
(b)
©)

Livestock census started in the country in the year 1919.
India ranks first among the world’s milk producing nations.

Dairy Entre-preneurship Development scheme was launched in Sept. 2014.

Which of the statement/s given above is/are incorrect ?

(1)

() and (b) (2) only (b) (3) only () (4) (b) and (c)
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80. WHTIH! HIVK 2 FUTR W@ e 2 ?

(1) AL AIRMHE Trdi S FH.

(2) 3EIUE YT 9IG FI.

(3) HITRT Heiy FHUROL.

() S S H g s i F T v 2

Which of the following was the main objective of GATT ?

(1) To reduce competition in International Trade

(2) To attain food security

(3) To improve inter-state relations

(4) To ensure competition in international trade through removal or reduction of trade
barriers

81. Wte faum faarma =
(a) T G AT ST Ufget HHiT ol

(b) TSI gY A= ufged v 1T= 2013 Hell T Aol

(6) T TN & T U FAEEIN I Heedral $AH € 3.
et HRy/@ faam/ 3w emRy/a?
()  (a) (2) W (c) 3 @IQTAH @) wHb)

Consider the following statements :

(a) India ranks first in the world in milk production.

(b) National Dairy plan phase I is launched in March 2013.

(c)  Dairy sector is the important secondary source of income for rural families.

Which of the statement/s given above is/are incorrect ?

(1) only (a) (2) only (c) (3) both (a}and {c) (4) only (b)
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82, We faum faard =
(a) SfEor Id STfvrn <= dweH (THISTA) ga AR SIS T 28 SHERT 1992 7Ll

E

(b) 2007 T SEU-gd TN SR WoEAd H9EE SWIEE! AEES SHl AN
FH Fe.

(c) 2020 Hq AR FHA IR FIOAR S Bl

Fiete®! FHIoR/ @ faum/ g% smR/a?

1) @3® (2) H (a) @) (®)F() 4) T ()

Consider the following statements :
(a) The ASEAN Free Trade Area was established on 28 January 1992.

(b) Since 2007, ASEAN countries have gradually lowered the import duties to member
nations.

(¢) The target was to reach zero import duties by 2020.

Which of the statement/s given above is/are incorrect.

(1) () and (b) (2) only (a) (3) (b)and (q) (4) only (q)

83. @ faum fasre =
(a) oY fohaa wfbdi=n s $f @< foHa = e
(b) I 39 WS FW T fohad RmT=n STt 19T .
THPUHT FITI/ =R faem/3 slieT aR/d ?
1) (a) 0 ) A (2) ()
(3) wH (b) (4) TOETH Food! T

Consider the following statements :

(a) Commission for Agricultural Prices and costs replaced Agricultural prices committee.
(b) Food corporation of India replaced Agricultural Prices Commission.

Which of the above statement/s is/are correct ?

(1) both (a) and (b) (2) only (a)

(3) only (b) (4) none of the above
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84. 3fes et 78 ag= Saarea anftn Fafd ESieis! FrorE T MR =H"e &6 ?
(1) Hyo =9 FrEE T
(2) deHE 9w T
(3) - UM =9 FEEl 75
(4) OO E G T
According to David Ricardo, countries should produce and export the commodities based
on which of the following principles ?
(1) Absolute Cost Advantage Principle
(2) Comparative Cost Advantage Principle
(3) Equal Cost Advantage Principle
(4) Realistic Cost Advantage Principle

85. wWw faym faawm =
(a) UK STe HRU 1988 T HAS .
(b) SIS G FTA 1980 TR S A

FGURT P! fFIH/3 SRS 3TR/F ?
(1) T (b) (2) K (a)
(3) (a)d(b) T (4) i AR

Consider the following statements :

(a) The National forest policy is implemented since 1988.
(b) The Forest Conservation Act was enacted in 1980.
Which of the statement/s given above is/are correct ?

(1) Only (b) (2) Only (a)

(3) Both (a) and (b) (4) None of these

86. TR LR IAEUSR YUY AT TRERUE M YEFHI Fed S Fat FA a5
TR AT TSB! v =afa™ miea ?

(1) ISEhE NG (2) S.EH. W

(3) TIE HEEHA (4) FFRY

“A graph reflecting the concept that pollution and other environmental degradation first
rise and then falls with increase in income per capita” was introduced by which of the
following persons ?

(1) Alfred Marshall (2) J].M. Keynes
(3) Paul Samulson (4) Kuznets
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87. THIUH €l Qieh HHAT T TS 7

(1) 1969 2) 1972 (3) 1980 (4) 1985

The South Asian Association for Regional Cooperation (SAARC) was founded in which
year ?

(1) 1969 2) 1972 (3) 1980 (4) 1985

88. TR B WISV SR FIR WIATIH! iUl LT Fren g ?
(1) emfp, ofems onfo ey (2) A, FAS o YEoEy
(3) T, Ser Snfoy Al (4) R, e anfon Wifeed W
NAFTA as a regional trade agreement was signed by which of the following countries ?

(1) USA, Maxico and Netherlands (2) USA, Canada and Netherlands
(3) USA, Canada and Maxico (4) USA, UK (England) and USSR

89. A UL Wl HRW (2000) IEHTH Il WA HiES wd HRL,
(a) AT BRd Shll, ¥ hT=dlt, e hiaT FHEY gl
(b) AT FA THE TN TAIH TRaHS fawfed &S 19,

T HITH/HIUE UM/ ST 3T/q ?
(1) (a) v (2) (b) P
(3) (a) MU (b) (4) FRE R

The New Agriculture Policy (2000) is known as Rainbow Revolution because :
(a) It includes Green revolution, White revolution and Blue revolution.

(b) Under this policy the technology for artificial rain was developed in India.
Which of the above reason/s is/are correct ?

(1) () only ) (b) only

(3) Both (a) and (b) (4) None of the above

90. wWe faur fa=md =
(a) IRfwE g Fa Y TR BUN 16T YR JAES] H,
(b) 1 S G Foreyes Giaasg ARt ST SR

T FIR,/FR R/ ST /a2
(1) H (a) () wH (b)
(3) I ()7 (b) (@) FoOR TR

Consider the following statements :

(a) The main objective of the Regional Rural Banks (RRBs) is to provide credit and other
facilities to the small farmers.

() They are basically scheduled commercial banks.

Which of the above statement/s is/are correct ?

1) only (@ (2) only (b)

(3) Dboth (a) and (b) (4) None of the above
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91. Vrdfifovas e SEddie Gee AUt How fau g oe ?
(1) Taue faos sedfaer & AT SEEE 3R,
(2) TSR e FTEH & TAEEwR= FEEe SR,
3) waiwe! o v & 3 B War SRS Afue visae AR .
)

A HETRIS A1 A HEIZATS HIeET= ATl el ! Rl § YIS o=t ST
TS FROTA ..

Which of the following statements is not true about agricultural subsidies ?

4

(1)  Fertiliser subsidy is borne by the state governments.

(2) Power subsidy is borne by the state governments.
(3)  Ome of the objectives of fertiliser subsidy is to attract more capital to fertiliser industry.
(4) Low price of canal water, due to irrigation subsidy has led to inefficient use of surface

water.

92, e faur ofian et faaon G dafud smRa.
(a) B AT FeEE SIiET WEEE S g Wale ST €9 9T favr.
(b) 1 AeeFara g e o e
(c) < TrEee Hardl :ure T JifdE T 25,000 ST T,
(d) TREE TEET SRS vt FTaEER! T IR o 1o,
Fedent HvE faum W aTea ?
(1) wd fum ) (a) 3 ()
(3) (a) 3 () @ (2) Ff(Q)
Following are the statements about Targeted Public Distribution System (TPDS) :
(a) It divides entire population into BPL and APL.

(b) It works with dual pricing system. ,

(c) Maximum income level of families under BPL was ¥ 25,000 p.a.

(d) State governments were to decide the size of the population below poverty line.
Which of the above statements are true ?

(1} All the statements (2) (a} and (b}

(3) (a) and (¢) () () and (d)
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93. ‘T, Frvrey SNt TS R IS DIl T RS WGB! HIVE FHTI ?

(1) W IS (2) W WigaS

(3) GHfTH Wisas (4) IUREEH FHHIR <@

Which of the following explains the stock of people equipped with education, skills, good
health ?

(1) Labour force (2) Human capital

(3) Social capital (4) Productive labour force

94, WETHH! SV THY WiSTSE W T ?
(1) FT ¥gd (WEr)
(2) T A &

(3)  FEIET FHUARTE FAHA YT
(4) fam Fmid sremi Fod jaaus
Which of the following is not the part of foreign capital ?
(1) Foreign Aid
(2) External Commercial Borrowing
(3) Investment by Multinational Corporations
)

(4) Investment in Non-performing Assets

95. wEe faum faamm =n,
(a) WREMY wEE faee snfn dueaade asra afrds=t s 1972 74 e
(b) T fAvPT=T ST 1980 TE .
(c) Ty Had anftn Guren q29 W wved fae /e w0 e AR,
TleUaH! S/ @ faum avaw se/q ?
(1) (a3 (b) 2 bB)F({)
G @3( (4) ot wd
Consider the following statements :

(a) The National Committee on Environmental planning and co-ordination was setup
in 1972 in India.

(by The Department of Environment was established in 1980.
(c) Sustainable development can be achieved only if the Environment is conserved and

improved.
Which of the statement/s given above is/are correct ?
(1) (@) and (b) @ (© and (9
(3) (a)and (c) (4) Al of the above
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T 2016-17 1 INTEIEST SR W A1 et e sturem fhmd wEet adl.
(1) 1470 (2) 1310 (3) 1360 (4) 1410

The minimum support price approved by the government for the kharif 2016-17 season
was for common paddy.

(1) 1470 (2) 1310 (3) 1360 (4) 1410

97. W SqgA ol gefyd ®|y e UaEESt 1972 9ot = T FHE
AT,
(1) 3meEr (2) THEE (3) wruEtd. (4) wELEE

was setup in the year 1972 to undertake the promotional work relating to the
export of marine product.

(1) APEDA (2) MPEDA (3) CACP 4) NCDC

98.

afﬁ:mwﬁq?mm 3iT TROTHE FURTH (ARDC) I1 L=t T 1 T 1963 Well WEam

__ wugEEt 9o
(1) 3759 TEArE sl qRaal (2) WEW e &el @
() < gedE e [Eal (4) W& YHRA e @

Agricultural Refinance and Development Corporation (ARDC) was established on
July 1, 1963 primarily to meet

(1)  Short term credit supply (2) Medium term credit supply

(3) Long term credit supply (4) All types of credit supply
99, =1 PRSI FH 9o o SAfEae ST
(1) S foaa |ftdt (2) YRHIY UM HRHE
(3) ThE (4) 3
Agricultural Price Commission was set up on the recommendation of the
(1) Foodgrains prices committee (2) Food corporation of India
(3) NAFED (4) APEDA
100. G 1960 o1 <YHrAT qaiHid FE dEgEET ERa wid’ 9@ TEn TRE 6e @, g

YerHe: 1 fUsrraT SHEY e 3T
(1) dig 2 T (3) R (4) T

Introduction of new technique of agriculture became popular by name “Green Revolution”
around the world in early 1960s in which the first crop introduced was

(1) Rice (2) Wheat (3) Jowar (4) Bajara |
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101. W& SaeFAEIet 771 SR Ui (SHC) 70 Arean IR 31 Jagemren . 2.
ST GLATS, T I8 HI0I AT

(1) 19 FFIRI 2013 (2) 19 FHEIRT 2014
(3) 19 Hygal 2015 (4) 19 TFgARI 2016
Soil Health Card for every farmers was inagurated by Hon, P.M. at Suratgarh, Rajasthan
on .
(1) 19 February 2013 (2) 19 February 2014
(3) 19 February 2015 (4) 19 February 2016
102. ofew 9 o© fawm favrm ' thifers aefew™ T sE®wa’ (ICDS) 99 5}
FHad FHe.
(1) 1965 2) 1975
(3) 1985 (4) TSR FE AR

The “Integrated Child Development Services Programme (ICDS),” Development by
Department of women and child was implemented in the year

(1) 1965 (2) 1975
(3) 1985 (4) None of above

103. UTHSA SH 6 FeHd 9igel W] S8 R0 FIEHd Fayan ad.
) 15 AT 2014 - 14 WL 2015
) 1 TfU@ 2014 - 31 TH 2015

(3) 1 %@ 2015 - 31 9 2016
) 15 3T 2015 - 14 HR 2016

period is considered as phase-I of Pradhan Mantri Jan Dhan Yojana.
(1) 15% August 2014 - 14" August 2015
(2) 1%t April 2014 - 315t March 2015
(3) 1%t April 2015 - 315 March 2016
(4) 15t August 2015 - 14th August 2016

104. 2016-17, HE19 Sfdweun fo=q e Aedsn it deeen faeT fdf (LTIF) =vE
@ T HIer sa e Sues ew TRom.
(1) 10,000 (2) 20,000 (3) 30,000 (4) 40,000
The 2016-17 Union budget make a breaking announcement in the sector of

irrigation-setting up of Long Term Irrigation Fund (LTIF) in NABARD with an initial
corpus of ¥ crore.

(1) 10,000 (2) 20,000 (3 30,000 (4) 40,000
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105. %0 =S UF fRouH wvEs TFAEE) TE fell armE aRvamE Sl
el B,
1) 15 feuit dfcaay (2) 20 et vfcaaw
@) 25 feuit Afewas 4) ISR FURAE AR

“Calorie is the amount of heat needed to raise the temperature of one kﬂogram of water
through one degree at

(1) 15° (degree) celcius (2) 20° celcius

(3) 25° celcius (4) None of above
106. ¥F 2010-2011 <1 FH FTTUATHER WRAWIS Id SHHA UGN GE&A ! Bt

(1) 13835 T (2) 113.26 TU@W  (3) 12078 WO (4) 135.38 IVOW

According to 2010-2011 Agriculture census, the total number of operational holdings
was

(1) 13835 million (2) 11326 million (3) 12078 million (4) 13538 million

107. TR T4 FY UM Heor=Al RV &9 dremsiaid vaear TR E. vﬁarmw}%aém
A AR Z9% Tae F9 fHeA.

(1) 60% (2) 90% (3 75% 4) 50%

Under the pledge loan scheme of MSGAMB the farmers keep his produce in the APMC
godown and gets per cent of the value of loan.

(1) 60% 2y 90% (3) 75% (4) 50%

108. WId W&HRA RS g faao sae (Revamped PDS), & AsAT 1 SHART 1992 AL
WIS ILTIH W97 He.

(1) frasde Semsie S W Tawh Wi TiE U FH SHe qEeT H
(2) TETEERT S SUfas JAIR SR [T H

3) SfeatEcte S Eie TEyE 7 9= qEs] S

(4) ahsE HIE A

Revamped Public Distribution System was launched by Government of India on
1%t January 1992 with objective

(1) To ensure minimum availability of food grains per adult per month in the identified
area

(2) To provide minimum availability of food grains to the people below poverty line
(3) To provide required quantity of food grains to the people below poverty line
(4) None of the above
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109. 3Tfihcate 3T WHEE BT Wead R SRoTe JYiiid (APEDA) 91 €4 Wig Fried
= R R,
1) e feedh 2) = 3) = (4) =T

The Head Office of the “Agricultural and Processed Food Products Export Development
Authority (APEDA)” is located at

(1) New Delhi (2) Mumbai (3) Chennai (4) Bangaluru
110. ¥R FH ATHYE IR (ICAR) SRAwidAE Gy 9 difs guroma Aeart s

A A S AU IR Y2 918 ¥ 1951-2014 =41 oL

S AR

(1) 5 (2) 7.8 (3) 9.5 (4) 12

ICAR has played a pioneering role in Green revolution through its research and technology

development enable the country to increase of food grain by _________ since

1951 to 2014.

(1) 5 (2) 7.8 (3) 9.5 4 12

111, T faur faemm =
(a) &IOS AT O ST I E YISEe A JUit= S9uesrn gee 2000 .5 g5

ST 3.

(b) ST GG S8 § HE1-FHa HIFIRT 9aR- FHoe T, 3000 ferft gda qaromm
Hed HE T,

el Faos faum/faum g anea?

(1) HH (a) (2) I (b)

(3) ()T (b) (4) PR T

Consider the following statements :

(a) Agni Il is a surface to surface intermediate range missile that can carry nuclear
weapons and has a range more than 2000 km.

(b) The missile reentry vehicle is made with carbon-carbon composites, to withstand
high temperatures upto 3000 degree Celsius

Which of the above statements is/are correct ?

(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)

112. YR 2014 § 2017 9% GSAT-14, GSAT-9, GSAT-6, INSAT-3DR 3WI® d7aTeal GSLV §R
TR FSS IR, R % 05 B 2017 Tt wfaw wae e@wm g AgT vafim
FI0IE S B4,

(1) GSAT-6 (2) GSAT-9 (3) GSAT-14 (4) INSAT-3DR
India has launched GSAT-14, GSAT-9, GSAT-6, INSAT-3DR by different GSLV from 2014
to 2017. Out of these, was launched on 05 May 2017 from Satish Dhawan
space centre.

(1) GSAT-6 (2) GSAT-9 (3) GSAT-14 (4) INSAT-3DR
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113, S SAEMY Hhelo UgH WSva Ja1d 9l F (K| 81 HeeifoRhyA Thaet B,
Iy 0O 2 =>1 3) 1 4) <1
When control rods are inserted into the reactor, [K] (multiplication factor) becomes.
(1) 0o (2) >1 3 1 (4 <1

114, ‘onfve feamen’ & € T e

(1) gt enfvad unTel ST ueee

(2) YA IW yarES e, faer 1A foRom=n swe

(3) TEREN Hew ANftaw S TAieRuTeA qZET ATHME 52 8

(4) A = AT U= GHAT v

The term “Nuclear Winter” refers to .

(1) Unavailability of nuclear fuel for nuclear reactors

(2) Accumulation of o,  and vy-rays near the north pole of the earth

(3) D;op in temperature as an environmental effect due to a major nuclear war
(4) Itis a synonymous of ‘nuclear waste’

115. Fore Tkl FhRRT GEAT TG €Al ST B S5 Bl
(1) = <o I S SR gatea SateE S 2.
(2) IR SHA Fo BAE HAT A FAl S EH B,
(3) T ET=A <Sid FléE! W ded e
(4) T Hidren S Hlel Fe IAE N Fel Fedl WO

Energy Conversion from one form to another transforms

(1) Low-quality energy resource to high-quality energy resource

(2) High-quality energy resource to low-quality energy resource

(3) Quality of the energy resource remains unaffected

(4) Sometimes quality of energy resource improves and sometimes degrades

116, I=EHIG Afva® HIU (Nuclear waste) T GEoiov! T THEHs TR g4l :

(1) wErae (2) =&

(3) SIE (9) onftes $R TEES
High level nuclear waste is generated from one of the following :
(1} Laboratory (2) Industry

(3) Reactor (4) Nuclear Fuel Cycle
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117, @ faum faerm on
(a) RS §feE, ST F i ATHARR S9EY FTFISH @ Za€Y TS AU S,

(b) T TAH € TBMTRN IR Sl FHFE AW FEEY [Geosynchronus transfer

~ orbit] ¥AY FIOGH ITE 3.
THoIH! Foo faum/ faum g sma?
(1) e () (2) K (b)
(3) TR (@)F Db) (4) S T

Consider the following statements :
(a) Cryogenic Engines use liquid oxygen and liquid hydrogen at very low temperatures.

(b) This technology is needed to put heavier communication satellites in a geosynchronus
transfer orbit.

Which of the above statements is are wrong ?

(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)

118. T8 (ISRO) 7 diedishier, AW YA TEHNE Tohe §R verqoran favafass wgar
2017 A% werrfd e,

(1) 101 3| ) 102 I (3) 103 3T (4) 104 IR

ISRO launched on a single rocket from Srihrikota, Andhra Pradesh and made
a World record in February 2017.

(1) 101 satellites (2) 102 satellites (3) 103 satellites  (4) 104 satellites
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119. TFHIY WETH Huld WHeTH S faam @y Tla ?

(a) Sfadiemmral yetsiEare frrraran simifes wwfaa semdt @ 24 o T |
(b) YLE=T TERYUT WA HRNR TSUEEt e aHET A 11.2 HLEL /g fha

TATYET SR STETET BT,

() HTBURER QREvards! Hade I ¢ 11.8 HILH. /A 71 A 7 yesiten ganiad feearen
e dren o

(d) YIF TSR DESUATSIS! Siae 9 B 11.8 WL HY. /e 41 3T o Yeait=an gt froarsa
foeg fai diem @

i 36

(1) 5 (a) @) % (d)

(3) () 3 (c) (4) TR BORA TR

As far as space science in concerned, which of the following sentences are not true ?
(a) The geo-synchronous period of a spacecraft around the earth is 24 hrs.

(b) The velocity of a spacecraft to escape the influence of earth’s gravity must be more
than or equals to 11.2 km/s

() To reach Mars, a spacecraft must be launched at 11.8 km/s in the same direction the
earth moves around the sun.

(d) To reach Venus, a spacecraft must be launched at 11.8 km/s in a direction opposite
to the direction the earth moves a round the sun.

Answer options :
(1) Only (a) (2) Only (d) () (and(©) (4 None

120. GAGHH! HivEr T fmar amg o] fagz wiwar’ guifaa ?
(1) 28Uy, +1ny; - MBag, +Kry, + 3 In,
(2) B5Ug+1Ing — 41Bag + 2Ky, + 3 Ing
(3) B8Ug,+1ny — 41Bag +9%Kry, + 6 Ing
(4) POUg, +1ng — ¥Bag, +9%Kry, + 5 Ing
Which one of the followings describes the proper nuclear fission reaction ?
(1) 28Uy +'ng — 4Bag, +Kr,, + 3 In,
(2) B°Ugy+1ny — B¥1Bag, +92Kry, + 3 Ing
() 28Uy +ng — M1Bag, + K, + 6 In,
4) Z5Ug,+1ng — 1P%Bag, + %Kry, + 5 Ing
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121. 27U @ faEe A de T e [eteAl SqHETeA] 0.1 e Sl Soateid B

1 fRa. U = fade dvam fadt S scafila @2
1) 9x10M] (2) 9x101] (3) 9x1012] (4) 9x10M7]

When 2S§U undergoes fission, about 0.1 percent of the original mass is released as energy.

How much cnergy is released when 1 kg of 2ggU undergoes fission ?
(1) 9x101] (2) 9x10137] (3) 9x1012] (4) 9x10M]

122. ‘SLEH.UE, -9' a1 IUUSTAT WUl WOISUH! FIU fGUH 3\ 3R ?
(1) e 3T TR S8’ T 2017 AL FS,
(2) a1 Iywrere ‘gfyor oY e’ SrdE R,
(3) T U Juien HE RO, T3veeT  saEH fauas Hifedt SO SYUE 3T,
(4) IRET TEra WO Sl STt 39 91 oS HRE oTRA.
Which one of the following statements is incorrect about GSAT - 9 satellite ?
(1) It was launched in 2017 by ISRO
2 It is aiso called as “South Asia Satellite”.

(2)
(3) Itis a geosynchronous communication and meteorology satellite
(4) All South Asian countries including Pakistan are the members of the project

123. H2UN fEFs SESmEA & Y T gl UFas o TaEiis! S R ?

(1) fowidam () HEATA

(3) DR HrieH (4)  eRiT

The process that converts solid coal into liquid hydrocarbon fuel is called :
(1) Liquifaction (2) Carbonation

(3) Catalytic conversion (4) Cracking

124, GEIGUH! HIv R Fol0 AT TET 3R ?
(1) SEEEgEE, 9, TEE sitfwrs, sufras
(2) STAAREF, 9, FEa Shftr, sofagd
(3) SEEsEH, g it sfas, SofRm
(4) oW, nfrae, Sofagy, TE sifors

Which of the following are the indirect form of solar energy ?
(1) Biomass, Wind, Ocean thermal, Nuclear

(2) Biomass, Wind, Ocean thermal, Hydel

(3) Biomass, Ocean thermal, Nuclear, Hydel

(4) Wind, Nuclear, Hydel, Ocean thermal
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125. TEUY 9 T SEA Alfvas Fr=vile WRa 11 @ 13 | 1998 A& afoas af=
TR FS 8.
(1) 4 (2) =K (3) U= (4) &

Pokhran 1l was the second Indian Nuclear test conducted the explosions of series of
nuclear bomb between 11 - 13 May 1998.

(1) Three (2) Four (3) Five (4) Six

126. TS THEE frefauamsdar snftn gaet fem GEia FoarEial §6d Woots! HIver T

AT E Wehelld ?

(1) v=ERRS I= (e agm)  (2) ¥+ 95d

(3) Th-wm s (4) whotH w

Which of the following means hacker may use to know your password to break into your
system ?

(1) Dictionary words (2) Brute - Force method

(3) Key - Logger attacks (4) All of the above

127. ERP 99 |yl 719 310 318

(1) TFge 9+ Wnm (2) TuRs " ST

(3) T {HM WEw (4) T=UES 4HE o

Full form of ERP is :

(1) Extended Research Program (2) Enterprise Resource Planning
(3) Employee Resource Process (4) Enterprise Research Flanning

128. FHITH TaHAS WHH THRATEA 9 fTo Teawdren T5drel $oot sl siar 3R ?
(1) wR - T, FER sifes - oR
(2) TR - HLEIH, FEA ANF - TR
(3) HN - WFEFS, TR Afeh - HAH
(4) TR - T, BENR AT - OfREFS
Which of the following pair describing transmission medium and signal used in Computer
Networking is correct ?
(1) Copper - electrical, fibre optic - light
(2) Copper - magnetic, fibre optic - electrical
(3) Copper - electrical, fibre optic - magnetic
(4) Copper - light, fibre optic - electrical

oAl RS ST /SPACE FOR ROUGH WORK PT.O



C10 50 A

129. GIE@IH! FIOM TG faweaimtiar (fomae) dar (FEfAHe) ane ?

1) e 2) TIHL
(3) g @ it
Which of the following protocol provides reliable communication ?
(1) TCP (2) ARP
(3) UDP (4) All of the above

130. ‘&' (Saksham) TR IsIgl @ TS YRAE Sa9H a1 T
TeEeA e,
(1) =9 W (2) Y wW
(3) TW YW (4) et T
‘Saksham’ online scholarship management system is implemented in state
for the first time.
(1)  Madhya Pradesh (2) Andhra Pradesh
(3) Uttar Pradesh (4) None of these

131. 9T BHEEfCFS T 951 FEif-aq hod 9 T Ja FL @ @,
(1) THHFE (2) HEN RO THSe
(3) ot g ARUTHERS (4) VEREH®
The newly implemented goods and service tax would affect the Indian
Pharmaceutical Industry.
(1) Negatively (2) NOT
(3) Hardly (4) Positively

132, 'HAgaA-fhur’ ar U ¥ foR 3 a9 W90, YRd 9&ER T @R AR, AW
‘e T = T Y gaEig .
(1) Tt FRIA TAH FSHHIA Fedh
Q) FH FRIA Hie TR ek
(3) I TR AR e Fead
() oM shfde die sHfedy Jeah

The ministry of Science and Technology, Govt of India has been in a fore - front of an
initiative called as Biotech-KISAN. The word ‘KISAN’ in this program stands for

(1) Krishi Innovation Science Application Network
(2) Kisan Invention Seed Association Network

(3) Kapas Improvisation Scientific Analysis Network
{4) Kalam Initiative Seed Analysis Network
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133. (I) WYl g0t T sireent (I1) Wi = 4 Wadehshieh! e el
1y (I
(a) TN dfeen e () FeefE dert

(b) —HSA HEES M3 (i) Frepifeamr faum 10

(c) SHSr=AT THTE SR (il) HEHTEREH

(d) TUE= TR Hel (iv) Sfieielay ke
it 39

(@ ® ((© @
(1) @) @) @Gv) (@
(2) (@) G@v) @ ()
3) (v) © (@) (@)
4 O Gv) @) (D
Match the plant disease (I) with their causative agent (II) :

)] (IT)
(a) Early blight of potato (i) Alternaria Solani
(b) Crown gall of plum (i) Nicotiana virus 10
{c) Leaf curl of tomato (iii) Mycoplasma
(d) Bunchy top of papaya (iv) Agrobacterium tumefaciens

Answer options :

(@ (b (© (9
(1) (@@ @) @) ()
(2 @@ @) @ ()
@ @) ) i) (@
4 @@ @v) @ ()

134. (= FiF dEGAEET aRown) FEE AN aHEE HYl IEE P,
1) 35-37C (2) 28-30°C (3) 40 - 45°C (4) 37-40°C
The inside temperature of the artificial Vagina (used in artificial insemination) of cows
should be ideally between

(1) 35-37°C (2) 28 -30°C . (3) 40 -45°C (4) 37 -40°C
135, GSEIH! & S 9T THa SRvarE! g .
(1) ATRIE=SRE (2) TERNMEA

(3) U wEEm e T wmu ww  (4) I wifere
One of the following is not a method for direct gene transfer :
(1) Microinjection (2) Electroporation
(3) Laser mediated DNA uptake (4) Tiplasmid
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136. FA.HL.TIR 7 fawdln oo AiH-2 7N dHg 99 | g 3 T
3. |
(1) =EEh 3 e (2) ST @ oA |
(3) AU 9 IS 4) EF 3 ddR
Opaque-2 maize composite varieties developed by ICAR are rich in and
(1) Lysine and tryptophan (2)  Alanine and Glycine
(3) Tyrosine and Aspargine (4) Serine and Cystine

137. Gio@ts! HoR/ faum/A arg o ?
(a) fesh faumeer TR go-difes Ari gem e
(b) T fhen sTIER =1 YER €% Wehd ]
() A@-AHHEIEN Fl- AR TERA 8% wehal
(d) Jufeey T2 SR & FHES a6
gaiEt I
(1) (b) v (d) (2) (a) 300 (c) (@) wF() (4) TH ()
Which of the following statement/s is/are true ?
(a) Polio viruses are spread predominantly by the fecal-oral route
(b) Tuberculosis cannot be transmitted by milk or food
(¢) Kala-azar could be contracted via bite of sand fly

(d) Athlete’s foot is a disease caused by worms
Answer options :

(1) (b) and (d) (2) (a) and () (3) only (d) (4) only (c)
138. WG SNTEMT ATHUN SR fawfan Foe faafaaen Swdren wfemem g A
oo oM.
(1) a1 deed (2) 3F "YW
(3) WS (4) T it

A seedless variety of watermelon developed by Indian Institute of Horticultural research
has been named as

(1) Shweta Seedless (2) Arka Madhura

(3) Rasaraj (4) Goma Keerthi
139, RaMT g 2G 3T @ie a9 fom ow.
(1) ®AH (2) TN (3) IWES (4) e

India’s first 2G Ethanol plant was set in . -
(1) Karnataka (2) Maharashtra  (3) Uttarakhand (4) Hyderabad
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140. THSYEH! HivEl/d TUfERY € We ©F i1 o] 98drd ?

(@) o THET FESS FAE.

(b) o TUHE Al AT e WGTARNF TG TeH 2T .

(c) We A I e gof ST FoT FAHEE R THIOMA THA.

d) e v U e i gH FT NH TR

T I

(1) (a) 37 (c) (2)  (b) snfor (d) (3) K (a) (4) () 3T (o)
Which of the following property/ies could be attributed adult stem cells ?

(a) These are sourced from Embryo’s

(b) These can be taken from patient to avoid immune rejection problem

(¢) Adult stem cells are not numerous in mature tissues

(d) Adult stem cells cannot repair tissue cells
Answer options :

(1) (@) and (c) (2) (b)and (d) (3) only (a) (4) (b) and (c)
141. TEtOH HOM Ao FuF T I A 2

(1) ZrEERreHl (2) wefégm At

(3) ofifaw faeardisg (4) e Sagr

Which of the following is not an example of fungal biopesticide ?

(1) Trichoderma (2) Metarhizium anisoplia

(3) Agaricus silvaticus (4) Beauveria bassiana
142. ‘=" SavET WERAHR &1 T W Samv]= arql el .

(1) THTarafay vieirs (2) FHIEFET T

(3) TWEIHIHT T (4) efawiseg vl

are one of the type of bacteria that are used in the process of cheese making,.

(1)  Saccharomyces sps (2) Camylobacter sps

(3)  Streptococcus sps (4) Aspergillus sps
143. T ST SUIFH AVEEET FRUIE FE0R I 318

(1) e ) sfafed (3) feXfe (4) SEEERA
is a Growth Regulator producing apical dominance in plant.
(1) Auxin (2) Ethylene (3) Gibberellin (4) Cytokinin

AT HIWTSE ST /SPACE FOR ROUGH WORK

P.T.O.



C10 54 A

144, ¥ FOTE Tl HadETet 91O VI TeETRT W TR
(1) 37T ArEd 2 dddfTau
(3) TEHETETE. (4) TATE. TR
is the commonly used medium for plant tissue culture.
(1) Eagle’s medium (2) DPBSA
(3) HBSS (4) MS medium
145. =&, 99, Afeolt 3. 0 wRdg FTE SR A0 SRA.
(1) "=E (2) S0 (3) STETAT (4) THTAT
Cauvery, Sona, Rohini etc. are some of the outstanding Indian varieties.
(1) Wheat (2) Bajra (3) Rice (4) Maize

146. 1986 U@ THTsI® SUEH Wehed ABSN AT, WSB! YIS B0 T Fel ?

(1) Th1 2 (2) TEEHEA

(3) TR (4) SIS

Chernobyl Atomic Power Plant disaster in 1986 took place in which of the following state
of Russia ? '

(1)  Ukraine State (2) Uzbekistan

(3) Estonia (4) Georgia

147. EedE FoR faum O aRd ?
(a) TR THte &= Y 26 FHERT 2002 AL .
(b) afis sostem R | HieTEt dTar FH B TS SIHT B
yatdt st
(1) ¥93(a) (2) F9 (b)
3) [ (@)F b) (4) THEE R
Which of the following statements are correct ?
(@) Bhuj Earthquake of Gujrat accured in 26 January 2002.
(b) To reduce the intensity and destructive effect means mitigation.
Answer options :
(1)  Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither
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148, WHGYH! FHIOI Te1 Ue=w yRdld afife S| FRoiyd ek 2

(a) T - SR (b) Her - ATt

(€) WM - TeEd (d) wErEt - A

i I

(1) (a) 3T (b) 2) wH(b)

@) (o) 3 (a) (4) = (d)

Which of the following rivers are causing disasters in Western India ?
(a) Ganga and Brahamapuftra (b) Narmada and Tapi
() Mahanadi and Godavari (d) Mahanadi and Tapi
Answer options :

(1) (a)and (b) (2) only (b)

(3) (o) and (d) (4) only (d)

149, T Fren Yot ST Al w0 de aak S A

(a) %9 M T T (b) T S T

() TS HH F TRET g (d |

it 39T

(1) T () (2) W (a) S (b)

@) wH (d) (4 <lowd

Which of the following disaster causes maximum damage in shortest time ?
{a) Earthquake and Landslides (b) Earthquake and floods '
(c) Landslides and hailstorms (d) Floods

Answer options :

(1) Only (a) (2) Only (a) and (b)

(3) Only (d) (4) All the above

150. WEetH! o fasm yeu favgs qala S S o ?

L () & @) &) @ W)

Which of the following zone is seismically most active zone ?

(1) Zone () (2) Zone (I} (3) Zone (V) (4) Zone (IV)
-00o0-

FHoAT HATHS 9T /SPACE FOR ROUGH WORK PT.O



C10

56 A

Il — (9= 1 9% 9e....)

@) Tgfaeny fafeg Foom faftee arfle = +@ (IE %) w00, Tegfasafaia SoafFeat |
TR FAEER F= FM Fedd o FO FOAE I FO G, 70 AFS TS 9 AR IHERT
G R ol ' TeHed S TRueRi wRey StaEEas SAfufem-82 " anie TEEiTar SRaE
FOUE FEo F L6l T FHO T AU R S/ T T §9R W e e
RIE R

(9) e yyulrERaEl smaH fafe FOH 9% Yo U@ € TR e ae TeThaeR
UIT TG TEE MR, WTH UHAT SIS SrUargel IHEEi AT9eET IR Wi- 1

ARAWHHS 7 faawr W ) v S
AT W9
T FHIE 201, S GG I HOGEdr FION Tod: T 0 2
(1) @ TEEe wEal @ wvaEe fgmarr
@) T THHERT T (4) TG MG

. 3. 201.

;AT A W (3) T e U9 o TR, e W YEE 3@ (3)) R Od
WISHTHATV T 3. 201 FANe S-FAF ()" T Tz T Bl Fo G0 SAETH
3TTe.

ONON NO

3TEM YA W TeTgfaaddie Tod T ol SUGRHiE 8 Rlel Waaien giaset

TAWAREIS = A TAFAREHNG Taftd aqe oIt SHifad e graaml.  grehiar
Fad HIGAT VRN i aravd, Ufae or e 9 9w 14,
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(Authentic) TTRIHIU/ESH THT TISfereied! of

IR Heft 3T, AT ITRATCThIe 3T S THSToaT Adiet. AT ATHEHT ATeret o

CRINGRR]

o

-KEY

D

HIB | 99 C

HHh | G A

26

27

28
29
30
31

32
33
34
35
36
37

38
39
40

41

42

43

44

45

46

47

48

49

50

D

HIB | 99 C

HHE | G A

10
11

12
13
14
15
16
17
18
19
20

21

22
23
24
25

# TP U9 7€ S0 SATeter AT

fe. ¢ SHaEm, Ro0%¢

WA AT 4T - [V



WA AT YT - [V

fe. ¢ SHaEmT, Ro%¢

BEE) ERis ] I
FHE | GTA | 9GB | €HC | §ED FHE | GHA | 99B | §9C | ED
51 1 2 3 2 76 2 1 4 4
52 4 1 # 4 77 4 4 4 2
53 2 1 3 3 78 4 4 4 4
54 2 1 3 1 79 3 3 4 2
55 4 1 4 4 80 4 1 4 4
56 3 3 2 2 81 4 4 4 4
57 1 2 2 2 82 4 2 4 2
58 1 2 2 1 83 2 2 3 3
59 4 4 4 3 84 2 4 1 3
60 1 2 4 4 85 3 3 3 3
61 # 2 3 4 86 4 2 4 4
62 2 2 3 1 87 4 3 3 1
63 2 2 # 3 88 3 2 2 3
64 4 4 4 2 89 1 # 2 3
65 3 3 2 3 90 3 2 1 2
66 2 3 4 4 91 1 2 # 4
67 2 2 2 2 92 2 4 2 3
68 2 4 3 2 93 2 4 2 3
69 4 4 2 2 94 4 3 3 4
70 2 2 4 2 95 4 4 2 #
7 # 4 4 2 96 1 2 1 1
72 3 4 2 4 97 2 2 1 2
73 4 3 2 1 98 3 1 2 2
74 3 2 3 4 99 1 3 2 1
75 3 3 3 4 100 2 2 1 3
# Tyiferciel W91 ¥E SXUATT AT AR




AR || g A | 99B | 99C | 99D ShHTSR | O A
101 3 1 3 3 126 4
102 2 3 3 1 127 2
103 1 1 1 1 128 1
104 2 3 3 1 129 1
105 1 1 1 1 130 3
106 1 2 1 1 131 4
107 3 1 1 3 132 1
108 1 1 2 2 133 4
109 1 1 1 2 134 3
110 1 1 2 1 135 4
111 3 4 3 2 136 1
112 2 2 2 3 137 2
113 3 3 3 1 138 2
114 3 2 2 3 139 3
115 2 3 3 2 140 4
116 3 3 2 2 141 3
117 4 4 2 3 142 3
118 4 4 1 1 143 1
119 1 1 4 2 144 4
120 2 2 3 2 145 3
121 2 3 2 4 146 1
122 4 3 4 4 147 2
123 1 2 4 3 148 2
124 2 2 1 3 149 2
125 3 1 3 4 150 3
# TRTICIC! T3 T8 HRUITH ATl AT

WA 38T U0 - [V fe. ¢ SHaEmT, Ro%¢



